Esegui le equivalenze: misure di capacita.

hl 23 = dal

cl 26 = ml

cl 441 =1

dl0,7 =cl

hl 6 = dal

ml 270 = cl

dl 0,36 =cl

dal 231 = hl

dal15 =1

ml 8 = ¢l

hl 0,91 = dal
cl61=1|

dal 0,8 = hl

dl 3,3 =ml

cl7=ml

dlo,7 =1

12,72 =dI

| 36 = cl

dal 0,5 =1

dal 0,77 = hl
10,7 =cl

ml 231 = dI

cl 0,7 =1

cl3=dl

| 248 = dal
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dal 0,48 = |
dl 1,13 = ml
cl0,4 =ml
cl 42 =dl
ml5 =1
dal15=1
10,33 =dal
dal 0,76 = hl
dl 4 =ml
ml 83 = dI
dl 918 = |
dl22=1
T_Tﬁﬁ dal 57 = |
?;; dal 87,3 = |
“k. ___—.' dl 98,8 = |
dal 4 = |

dal 74 = dI

hl 28,6 = dal

hl 443 = |

h1 0,27 = dal

ml 978 = cl P

o 7=dl %!ﬁ- —L :'f"';
16,79 = h %L%J (00
dal1=1

dal 86 = |




